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Note : The paper contains three sections : A, B and C. 

Instructions are given in each section along with marks. 

SECTION - A 

Answer any two questions from this section : 2x12=24 

1. "Marginal revenue productivity of the factor plays 
an important role in factor pricing". Explain. 

2. Explain the concept of indifference curves. What 
are its properties ? 

3. What do you mean by Elasticity of Demand ? 
How would you measure the price Elasticity of 
Demand ? 

4. Explain the concept of monopolistic competition. 
How is long run equilibrium achieved under it ? 
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SECTION - B 

Answer any two questions from this section. 2x8=16 
5. 	Explain the concept of consumer's surplus. Does 

this concept have any utility in practice ? Discuss. 

6. What do you understand by microeconomics and 
macroeconomics ? Distinguish between positive 
versus normative economics. 

7. 	What is price discrimination ? State the conditions 
under which price discrimination be practiced. 

8. 	What are economics of scale ? Explain different 
forms of economics of scale. 

SECTION - C 

Answer any one question from this section. 

9. 	Explain following concepts : 	 5, 5 
(a) Price Mechanism 

(b) Oligopoly 

10. Distinguish between the following : 	 5, 5 
(a) Production cost and Selling cost 

(b) Rent and Quasi rent 
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